H & 0l & AHS B Ml A

THHOrM 2te|
KOS 242 EER=E)
SA - BB C9I(B) - HIRAY - BES ol ko o 8 o HImE2
el 13,585,616 12,388,511 1,197,105
= 12,359 12,359 0
z 2,296,000 2,296,000 0
= 100,000 0 100,000
[ 1,307,946 1,255,286 52,660
= 60,000 0 60,000
= 9,809,311 8,824,866 94,445
tetd 2he| 484,924 471,924 13,000
= 8,620 8,620 0
< 16,670 17,670 21,000
s 459,634 445,634 14,000
Lot 2te| 28,400 29,400 1,000
[ 2,000 3,000 21,000
= 26,400 26,400 0
A HHRP BHS ALK A 5,000 6,000 21,000
< 2,000 3,000 21,000
= 3,000 3,000 0
201 er23| 5,000 6,000 21,000
< 2,000 3,000 1,000
= 3,000 3,000 0
01 AtR2t2l] 5,000 6,000 21,000
ogtd2eILY s 7Y
&& 5,000,000 5,000 6,000 21,000
< 2,000 3,000 21,000
= 3,000 3,000 0
TOIOFM O Al 235} 55,846 41,846 14,000
= 7,584 7,584 0
< 10,162 10,162 0
= 38,100 24,100 14,000
UNMZS2S A (X)) 3,000 0 3,000
201 LEH2 | 3,000 0 3,000
03 A2 I 3,000 0 3,000
Okl otenA 29 3,000 0 3,000
=t SEEEd K (XHH) 12,000 1,000 11,000
201 er23 | 10,000 0 10,000
01 At2teltl 10,000 0 10,000
OMHUsS et&et=8el FHl St
10,000,000& 13 10,000 0 10,000
301 LEENS 2,000 1,000 1,000
11 SAREIXES 2,000 1,000 1,000
oSt dst=sd AdM=Ed FIHA
24 & 2,000,000 2,000 1,000 1,000
? ¥ Aoz 2 28t 418,276 399,876 18,400




FA: ord2te| ot
3 el & NS0dle 28 st
el dgeEg o 2l (Gt H2)
SN - B SRA(BH) - HPAY - BES 0 & ol 8 o tmE==T
= 3,739 3,739 0
= 12,016 12,016 0
= 402,521 384,121 18,400
ULFES & 2 280,565 271,465 9,100
= 3,739 3,739 0
= 6,516 6,516 0
z 270,310 261,210 9,100
Qe W= S 2 (XA 37,960 28,860 9,100
201 LetEaY| 16,960 7,860 9,100
01 At 2tell 14,460 5,360 9,100
otlye g5 7Y
23 10,000,000 10,000 900 9,100
ooz SEXE 137,711 128,411 9,300
< 5,500 5,500 0
i 132,211 122,911 9,300
Hl&tidl =4 12,660 3,360 9,300
201 Ler2aY| 12,160 2,860 9,300
01 At 2teltl 12,160 2,860 9,300
2er==gHl 10,000 700 9,300
OXdessd & 245 dldlibleds
23 10,000,000 10,000 700 9,300
HWohAIs XS & FFXS S 9,123,000 8,073,000 1,050,000
= 2,296,000 2,296,000 0
= 100,000 0 100,000
< 1,198,000 1,148,000 50,000
= 60,000 0 60,000
i 5,469,000 4,629,000 840,000
RHoH Ofl & A e 9,123,000 8,073,000 1,060,000
= 2,296,000 2,296,000 0
= 100,000 0 100,000
= 1,198,000 1,148,000 50,000
= 60,000 0 60,000
i 5,469,000 4,629,000 840,000
oI & 20! HMAA 1,130,000 1,030,000 100,000
401 AlZHIL 2 0HY] 1,130,000 1,030,000 100,000
01 Al 1,130,000 1,030,000 100,000
ONHZ E20t2 HHASE R MHAI 100,000 0 100,000
THoH I & XI = EBI (o & X +) 4,622,000 4,602,000 20,000
[as 2,296,000 2,296,000 0
< 1,148,000 1,148,000 0
i 1,178,000 1,158,000 20,000
401 AlZHIL 2 0HY] 4,622,000 4,602,000 20,000
= 2,296,000 2,296,000 0




FA: orE2te| ot
3 MoHIEXNS & FHAXSFHI
S THoH Ol ALY (SH9 H2)
SN - BE - SRA(SIH) - NIRAY - B2 0] a0t ol & o HimEE]
& 1,148,000 1,148,000 0
i 1,178,000 1,158,000 20,000
01 AlZHI 4,612,000 4,592,000 20,000
OXZ NAMHASEHLX 7 FUIAIY D12
2 AAENH g4 20,000 0 20,000
A2 S3AE ZHIAML(HA) 2,380,000 1,720,000 660,000
= 100,000 0 100,000
= 2,280,000 1,720,000 560,000
401 AlZHIL S CHY] 2,380,000 1,720,000 660,000
= 100,000 0 100,000
[ 2,280,000 1,720,000 560,000
01 Al 2,380,000 1,720,000 660,000
01d 2712 AFAE FHIAL(MA, 41

g S) 24t 130,000 0 130,000

Q1Y A2 AASAE FHIAL(ASHIE) 200,000 0 200,000

= 100,000 0 100,000

z 100,000 0 100,000
0nd 212 S3AIE FHIAE (HEAH) 25,000 0 25,000
OZd A2 SSAIE FUIAS(S24MA) 50,000 0 50,000
082 A2 SSAIE FHIAL(SUAHE) 30,000 0 30,000
082 A2 SSAE FHIAL(SLAIE) 50,000 0 50,000
072 A2 SSAIE FUIAIE(ZEHAIA) 30,000 0 30,000
0323t 272 SS3AIE FUIAIE (A M) 25,000 0 25,000
033t 212 SSAIE FHIAL[UA(SE)

AIA] 40,000 0 40,000
Ot A2 SSAIE FHIAL(HZAH) 30,000 0 30,000
oSt 272 SS3AIE FHIAME (HEMH) 25,000 0 25,000
oS 272 S3AIE FUIALE (HE M) 25,000 0 25,000

A2 SSAIE ZHIARE (2 nE) 532,000 512,000 20,000

401 AlZHIL 2 0] 532,000 512,000 20,000

01 Al 532,000 512,000 20,000
01 A2 SSAIE FHIAL (LHRA &

g 2l L) 20,000 0 20,000

ZHUHIAN 50,000 0 50,000

T 50,000 0 50,000

401 AlZHIL 2] 50,000 0 50,000

< 50,000 0 50,000

01 AlZHI 50,000 0 50,000

OZYUHI ADIE 5% EXAIY 50,000 0 50,000

5 50,000 0 50,000

HOIME ZHIAI 60,000 0 60,000

x 60,000 0 60,000

401 AlZHIL 2 0HY] 60,000 0 60,000




2A:

orA 2te| ot

[yl

F: MolIEXNE L FHAXNAFHI
SRl THOHOll AL (SH9 H2)
SN - BE - SRA(SIH) - NIRAY - B2 0] a0t ol & o HimEE]
= 60,000 0 60,000
01 Al&HI 60,000 0 60,000
OMAE ZOINE HEIMNG[FELEA] 60,000 0 60,000
S 60,000 0 60,000
SZAH SUAEXSE FHIALS 20,000 0 20,000
401 AEHIL20HY] 20,000 0 20,000
01 Al&HI 20,000 0 20,000
OUIt HEXF =ZAHA SUAEXSE F
HIAIZ D12 & AAIEH 849 20,000 0 20,000
8=z AE8T FHIAMY 80,000 0 80,000
401 AlEHIYL20HY] 80,000 0 80,000
01 A& 80,000 0 80,000
On&Z AT Y 89 80,000 0 80,000
Mo EX S 25 X+ UMD 40,000 0 40,000
401 AlEHIL20HY] 40,000 0 40,000
01 AI&HI 40,000 0 40,000
OMANASEXSE X7 XS S EIgd TAF 2
e 40,000 0 40,000
SAXA 412,667 338,540 74,127
== 6,000 4,500 1,500
= 406,667 334,040 72,627
STRXFAE 412,667 338,540 74,127
< 6,000 4,500 1,500
= 406,667 334,040 72,627
THtARM CHE] 78,400 72,400 6,000
201 L2 | 22,000 16,000 6,000
01 AtR2telt] 22,000 16,000 6,000
OUE A3 EANH(PO, SEEE S)
200,000& *10H*33] 6,000 0 6,000
ETHEE(EX) 18,000 12,500 5,500
== 6,000 4,500 1,500
= 12,000 8,000 4,000
307 212t01 & 18,000 12,500 5,500
[ 6,000 4,500 1,500
o 12,000 8,000 4,000
06 2823 18,000 12,500 5,500
OZ+dll2s 2=
Z& 18,000,000& 18,000 12,500 5,500
< 6,000 4,500 1,500
= 12,000 8,000 4,000
5.4. ~5. 6. =52 0ol =+ 62,627 0 62,627
302 OlF=ZL a2 4a=2 62,627 0 62,627
02 QRIOITHOHE =T8S 24 = 62,627 0 62,627




2A:
X XH -
o e

=aak

orx 22| It
=ax
=3X MY

A -3 - SRA(3) - MRAY - BES Ofl &F2R 3 A BluEZ
||| oasas msl mduesz 62,627 0 62,627
ST, 127,650 9,400 31,250

= 9,660 7,500 2,160

2 117,990 88,900 29,090

SOOI D RS ARR X4 127,650 9,400 31,250
= 9,660 7,500 2,160

2 117,990 88,900 29,090

ST ot Ol 2 A 51,500 30,000 21,500
401 AIEHIL 2| 51,50 30,000 21,500
01 Al&H| 51,500 30,000 21,500
0FIBHEIt 8 21,500 0 21,500
SO 22xx 53,950 51,400 2,550
201 ger2 | 53,950 51,400 2,550
01 AFR22IH| 53,400 51,400 2,000
OXNUBA=H A 17,000,0002 17,000 15,000 2,000

2 222 550 0 550
O AT 10,0002 %524 550 0 550
Ng Zelg orEEH N 7,200 0 7,200
= 2,160 0 2,160

2 5,040 0 5,040

201 Yer2 | 7,200 0 7,200
= 2,160 0 2,160

2 5,040 0 5,040

01 AFR22IH| 7,200 0 7,200
OXE XU AHFFY| XA 7,200 0 7,200

= 2,160 0 2,160

2 5,040 0 5,040

WPgs (oraa ) 726,840 716,512 10,328
SIS (EEID) 10,328 0 10,328
AzhPEIere 10,328 0 10,328
802 Pret2IIE} 10,328 0 10,328
IEREES=SETEE) 4,40 0 4,406
O=nEZEI wa3 2,483 0 2,483
O=nEXI w3 oIk 1,923 0 1,923

2 Al - CHI xS et 5,922 0 5,922
OZHIEZES B3 4,473 0 4,473
OZHIEZXS Be3 0% 1,449 0 1,449




